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MCQ PRACTICE WORKSHEET _ CLASS 3 

  
ENGLISH (60 Questions) 
 
Read the following passage and answer the 
questions.    
There was a mother tiger and her small tiger cub. 
They lived near a river in a shady jungle. When the 
sky was dark, the mother tiger hunted deer and 
pig. One night the tiger cub saw a tiny frog. The 
cub chased the frog and caught it and turned to 
show his mother. But the mother was not there 
instead he saw a big tiger. 

 
1. Where did the mother tiger and her small tiger 

cub live? 
A. hut  
B. jungle  
C. house  
D. tree  
       
2. What does the mother tiger hunt? 
A. pig and deer  
B. pig and frog  
C. deer and frog  
D. frog and tiger  
 
3. When does the mother tiger hunt? 
A. In day time 
B. In the dark 
C. Morning 
D. Afternoon 

 
4. What does the cub tiger catch?  
A. tiger  
B. deer  
C. pig  
D. frog  
 
5. What did the tiger cub see one day? 
A. pig 
B. frog  
C. deer  
D. tiger  
 
Read the following passage and answer the 
questions.  
Once there lived a cap seller who sold caps in the 
market. One day he was passing through a forest to 
go to a village carrying a basket full of caps on his 
head. He felt tired and fell asleep under a tree. 
After some time, he woke up and found his basket 
empty. He was worried and saw some monkeys 
sitting on the tree wearing his caps. He planned to 
get his caps back. He removed his cap and threw it 
on the ground. At once all the monkeys took off the 
caps they were wearing and threw them down. The 

cap seller quickly collected all the caps and went 
away. 
 
6. What did the cap seller sell? 
A. balls  
B. caps  
C. cups  
D. clothes  
 
7. Where was he going through the forest? 
A. house  
B. village  
C. city  
D. circus  
 
8. What did he do on the way? 
A. played  
B. slept  
C. ran  
D. sold  
 
9. Who took his caps? 
A. elephant   
B. tiger  
C. deer  
D. monkeys  
 
10. Which is not an action word? 
A. throw  
B. dance 
C. happy 
D. sleep  
 
Read the given passage and answer the following 
question.  
One afternoon the mother tiger was tired and 
closed her eyes. The tiger cub saw a tiny frog, 
hopping along the ground. The tiger cub pounced 
on it, but the frog hopped away. He chased the 
frog and caught it and turned to show his mother.  
 
11. Mother tiger slept in the ____? 
A. noon  
B. afternoon   
C. morning  
D. night  
 
12. What did the tiger cub see? 
A. tiger  
B. frog  
C. cat  
D. pig  
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13. What was the frog doing? 
A. running  
B. hopping  
C. sleeping  
D. dancing  
 
14. Choose the word that rhymes with ‘cow’. 
A. see  
B. how  
C. cat  
D. two  
 
15. Choose the word which is the plural of the 

given word: Gas 
A. Gas  
B. Gass  
C. Gases  
D. Gasess  
 
16. Choose the correct meaning of the given word: 

Begin 
A. Start  
B. Middle  
C. End  
D. Put  
 
17. Choose the correct opposite of the given word: 

Sleep 
A. Sing  
B. Tired  
C. Awake  
D. Rest  
 
18. Choose the action word from the given 

sentence: Anu listens to her favourite song. 
A. Anu  
B. song  
C. favourite  
D. listens  
 
19. Choose the correct meaning of the given word: 

Sharp 
A. Dull  
B. Low  
C. Pointed  
D. Flat  
 
20. Choose the correct option: My name is Paul. 

_________ go to school every day. 
A. He  
B. She  
C. I  
D. It  
 

 

 

 

 

Read the passage given below and answer the 
questions that follow. 
It was a windy summer afternoon. Raja thought it 
was a good day to buy kites from the shop across 
his house to fly.  
 
21. What kind of day was it when Raja went out to 

buy kites? 
A. cold  
B. sunny  
C. wet  
D. windy  
 
22. What is the correct plural of branch? 
a) branchs  
b) branches  
c) branchis  
d) bunches  
 
23. Gilli is ___ little bird. 
a) an  
b) the  
c) a  
d) None of these  
 
24. Tick the correct action word. 
a) Rahul  
b) Your  
c) Sleep  
d) Mango  
 
25. Sona likes to _____strawberries. 
a) eat  
b) dance  
c) fly  
d) swim  
 
26. Tick the correct vowel to complete the given 

word meaningfully. ST__RY 
a) U  
b) A  
c) O  
d) E  
 
Read the passage given below and answer the 
questions that follow. 
Seema is Renu's best friend. She is getting ready to 
go to Renu's birthday party in the evening. She 
bought a big book of stories as a birthday gift for 
Renu. Seema wants to wrap it in pink paper. She 
knows that pink is Renu's favourite colour. But she 
can't find pink paper. Seema is sad. Seeing Seema 
so sad, her mother asked her to wrap the gift in 
her pink scarf. Seema was thrilled and happy 
again.  
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27. Who is Renu’s best friend?  
a) Seeta 
b) Reema 
c) Rita 
d) Seema 

 
28. What gift did Seema buy for Renu? 
a) Drawing book  
b) Story book  
c) Craft book  
d) Poetry book 

 
29. Select the correct opposite gender for the 

word Father. 
a) Sister  
b) Uncle  
c) Mother 
d) Brother 

 
30. Renu's favourite colour is _____ . 
a) Red 
b) Pink 
c) Yellow 
d) Blue  

 
31. The opposite word for sad is _____ . 
a) Unhappy  
b) Angry 
c) Upset 
d) Happy 

 

32. We will go for picnic ________. 
a) Tomorrow 
b) Tommorow 
c) Tommorrow 
d) Tomorow 

 
33. We must learn the _____ well in English. 

a) Gramar 
b) Grammer 
c) Grammar 
d) Gramer 

 
34. I spoke with my friend over the ______ for 10 

minutes. 
a) fone 
b) phon 
c) fon 
d) phone 

 
35. The doctor gave my sick grandmother some 
___. 

a) medicos 
b) medicines 
c) meds 
d) medicenes 

 
 

36. We must throw litter in the _______ can. 
a) garrbage 
b) garbage 
c) grabage 
d) garbez 

 
Choose the correct opposite words for each of 
the following underlined words. 
37. Nina was very happy. 

a) angry 
b) sad 
c) nervous 
d) bored 

 
38. We see the sun during the daytime. 

a) evening 
b) noontime 
c) morning 
d) night 

 
39. An old man planted some seeds. 

a) young  
b) smart 
c) kind 
d) good 

 
40. They have a big house. 

a) huge 
b) tiny 
c) enormous 
d) small 
 

41. Summer ended and the cold winter has arrived. 
a) windy  
b) hot  
c) warm 
d) cool 

 
42. What is the plural form of Mango? 

a) mangos 
b) mangose 
c) mangoes 
d) mangies 

 
43. What is the plural form of Man? 

a) manes 
b) mans 
c) men 
d) manies 

 
44. What is the correct plural form for sheep? 

a) sheeps 

b) sheep 

c) sheepies 

d) sheepes 
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45. Write the plural form of deer. 

a) deer 

b) deeres 

c) deers 

d) dear 
 
46. Betty found three in the kitchen drawer. 

a) knifes 

b) knives 

c) knifies 

d) knife 
 

Read the following passage and answer the 
questions given after it. 
It was a hot summer day. A crow was thirsty. It 
looked here and there for water. At last, it found a 
pot with a little water in it. The crow picked up 
small stones and dropped them in the pot one by 
one. Slowly the level of water came up. It drank 
the water and flew away happily. 
 
47. What kind of day it was? 

a) Cool 
b) Cloudy 
c) Hot 
d) Rainy 

 
48. What is the rhyming word for pot? 

a) Pet 
b) Hot 
c) Put 
d) Net 

 
49. What did the crow drop in the pot? 

a) Sticks 
b) Stones 
c) Balls 
d) Leaves 

 
50. The crow was looking for water because it was 
_____. 

a) thirsty 
b) hungry 
c) tired 
d) sleepy 

 
51. What kind of crow was it? 

a) Angry 
b) Surprised 
c) Funny 
d) Smart 

 
 

52. Neeta ____ a song. 
a) sing 
b) sings 
c) singing 
d) sang 

 

53. The boys ____ very well.  
a) play 
b) plays 
c) playing 
d) played 

 
54. My mother _____ delicious food.  

a) cooks 
b) cooking 
c) cook 
d) cooked 

 
55. I _______ my sister to study. 

a) tells 
b) told 
c) tell 
d) telling 

 
56. Asha ______ tea. 

a) drink 
c) drank 
d) drinking 
d) drinks 

 
57. Neeta _____ a song. 

a) sing 
b) sings 
c) singing 
d) sang 

 
58. The boys _____ very well.  

a) played 
b) plays 
c) playing 
d) play 

 
59. My mother _____ delicious food.  

a) cooks 
b) cooked 
c) cook 
d) cooking 

 
60. I _______ my sister to study. 

a) tells 
b) told 
c) tell 
d) telling 
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MATHEMATICS (60 Questions)  
 
1. Arrange the given numbers in ascending 

order: 65, 20, 47, 33, 9 
a) 47, 33, 9, 65, 20  
b) 9, 20, 33, 47, 65  
c) 33, 9, 20, 65, 47  
d) 20, 65, 33, 9, 47  
 
2. Arrange the given numbers in descending 

order: 12, 7, 29, 43, 38 
a) 12, 29,7, 38,43  
b) 29, 43, 7, 12, 38  
c) 43, 38, 29, 12, 7  
d) 38, 12, 43, 7, 29  
 
3. Tick the greatest number 
a) 98  
b) 117  
c) 54  
d) 80  
 
4. 200 more than 750 is same as 
a) 950  
b) 850  
c) 800  
d) None of these  
 
5. Select the correct option. 
a) 5 + 3 = 2 + 2 + 2  
b) 15 + 5 = 30 - 15  
c) 5 + 5 + 5 + 5 = 30 – 20  
d) 22 - 7 = 20 – 5  
 
6. Which of the following numbers is the second 

largest in the group?  
{595, 600, 795, 825, 150} 

a) 595  
b) 600  
c) 825  
d) 795  
 
7. Which of the following represents 3 minutes? 
a) 60 seconds + 60 seconds  
b) 60 seconds + 60 seconds + 60 seconds  
c) 60 seconds + 30 seconds  
d) 30 seconds + 30 seconds 
 
8. Which number can replace the question mark 

to make the sentence true? ’40 - ? = 24’ 
a) 38  
b) 24  
c) 19  
d) 16  
 
 
 

9. Which of the following numbers is less than 
18 but more than 16? 

a) 17  
b) 18  
c) 19  
d) 21  
 
10. Which of the following is same as 122? 
a) 446- 240  
b) 295 - 145  
c) 347 - 225  
d) 769 - 547  
 
11. Which of the following statements is 

incorrect? 
a) 19 comes just after 18  
b) 17 comes between 16 and 18  
c) 13 comes just before 14  
d) 19 comes just after 20  
 
12. How many tens are there in 90? 
a) No tens  
b) Nine tens  
c) Two tens  
d) Four tens   
 
13. Anil started driving at 7:00 p.m. He reached 

his destination at 8: 30 p.m. How long did he 
drive? 

a) 1 hour 30 minutes  
b) 1 hour 20 minutes  
c) 2 hours 20 minutes  
d) 2 hours 30 minutes  
 
14. Which of the following is less than 13 tens + 

2 ones 
a) 142  
b) 132  
c) 138  
d) 123  
 
15. A tank contained 50 litres of water. Jasmine 

drained 25 litres of water through a tap from 
the tank. How much water is left in the tank? 

a) 25 litres  
a) 30 litres  
a) 40 litres  
a) 50 litres  
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16. Karan had some chocolates. He gave 43 
chocolates to his wife and was left with 28 
chocolates. How many chocolates did Karan 
have at the beginning? 

a) 15  
b) 78  
c) 71  
d) 50  
 
17. 4 hundreds 3 tens 5 ones + 2 hundreds 2 tens 

6 ones=________  
a) 616  
b) 636  
c) 661  
d) 669  
 
18. Tick the smallest number 
a) 0  
b) 28  
c) 65  
d) 102  
 
19. Put the correct sign: 79__97 
a) >  
b) =  
c) +  
d) <  
 
20. 3 tens 4 ones + 5 tens 2 ones =? 
a) 32  
b) 53  
c) 89  
d) 86  
 
21. Subtract by counting backwards: 19 – 7 =? 
a) 21  
b) 12  
c) 19  
d) 7  
 
22. There are 20 boys and 17 girls in a class. How 

many students are there in the class 
altogether? 

a) 39  
b) 36  
c) 37  
d) 20  
 
23. There are 18 birds sitting on a tree. 8 birds 

flew away. How many birds are left on the 
tree? 

a) 10  
b) 8  
c) 18  
d) 0  
 
 
 

24. 24 – 12 =? 
a) 10  
b) 12  
c) 0  
d) 20  
 
25. 7 x 0 =? 
a) 7  
b) 07  
c) 0  
d) 70  
 
26. Smallest 4 digit number is 
a) 1000  
b) 0001  
c) 1001  
d) 1100 
 
27. Subtract 80 tens from 90 tens 
a) 980  
b) 100  
c) 890 
d) 10 
 
28. Fill the missing number 7500- ? = 7000 
a) 7000  
b) 500  
c) 7050 
d) 5000 
 
29. If 1 is subtracted from 4000, the difference 

will be – 
a) 3900  
b) 4001  
c) 3999 
d) 3099 
 
30. The number just before 9990 is __. 
a) 9991  
b) 9909  
c) 9988  
d) 9989 
 
31. The expanded form of the numeral 3003 is 

__. 
a) 300 +30  
b) 3000 + 30  
c) 3000 + 3  
d) 300 + 3000 
 
32. The place value of 2 in 2548 is __. 
a) 200  
b) 2020  
c) 2000  
d) 2002 
 
 
 



Page | 7  
 

33. Number of days in 2 weeks. 
a) 7  
b) 365  
c) 12  
d) 14 
 
34. How much do 8 pencils cost at Rs.12 each? 
a) 96  
b) 84  
c) 32  
d) none 
 
35. Ram has MORE THAN 25 books. Sam has 5 

books MORE THAN Ram. The number of books 
with Sam could be: 

a) 20 
b) 29 
c) 30 
d) 34 
 
36. Which of these numbers is between 67 and 

76? 
a) 77 
b) 70 
c) 60 
d) 66 
 
37. Seventy-nine can be written as 
a) 7+9 
b) 70+9 
c) 70+90 
d) 9+70 
 
38. The number which comes just after 5 TENS is 
a) 16 
b) 49 
c) 51 
d) 60 
 
39. A piece of rope measuring 4 mts is cut into 4 

equal parts. How long will be each part? 
    a) 400 mm  
    b) 500 mm       
    c) 40 cm             
    d) 100 cm     

 
40. How many metres in 800 cms? 
a) 5                     
b) 4                       
c) 8     
d) 0       
 
41. 240 minutes will make how many hours? 

  a) 4           
  b) 60                
  c) 8                   
  d) 24                          

 

42. 1000  +  ______  90  +  5  = 1295 
  a) 1000    
  b) 2000    
  c) 200     
  d) 95       
 
43. How many corners in 5 triangles? 
   a) 8                  
   b) 9               
   c) 20      
   d) 15       
 
44. If the distance between Panaji and Porvorim 

is 6 kms, then it is _____ 
  a) 6000 mts        
  b) 600 mts              
  c) 6000 cms     
  d) 9000 mts      
 
45. How many wheels in 45 cars? 
    a)  180   
    b)  280        
    c)  90                 
    d) 145                
 
46. How many groups of 5 apples will make 60 

apples? 
    a) 6        
    b) 12            
    c) 10             
    d) 18         
 
47. What is 25 rounded to nearest ten? 
   a) 30          
   b) 20       
   c) 40     
   d) 50    
 
48. 8 Tens – 35 Units = _____? 
    a) 5 tens 4 units              
    b) 4 tens 5 units           
    c) 8 tens 3 units               
    d) 3 tens 5 units        
 
49. Which is not the way to make 8? 

    a) 7  +  1    
    b) 2  +  4    
    c) 0  +  8     
    d) 2  +  6       

 
50. 15 X 4 thousand is 
a) 60 thousand       
b) 60 hundreds     
c) 60 tens      
d) 60 ones  
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51. 340 – 60 =    
a) 300                
b) 260              
c) 280            
d) 290 
 
52. 40 Less than 2340 is 
a) 2300              
b) 2030           
c) 2400         
d)2340 
 
53. 10 kg is equal to 
a) 5 weights of 500g         
b) 20 weights of 500 g        
c) 5 weights of l00 g 
d) 10 weights of 500 g 
 
54. There are 324 boys and 298 girls in a school. 

What is the total number of students in that 
School? 

a) 512              
b) 170               
c) 622             
d) 522 
 
55. Write in number- Eight hundred Six 
a) 509              
b) 806              
c) 860             
d) 86 
 
 
 
 
 
 
 

56. Which digit has the place valve 7 
a) 471               
b) 417              
c) 174              
d) 741 
 
57. 8 + 600 + 60 is the expanded form of 
a) 1668             
b) 668              
c) 606             
d) 600 
 
58. There are 458 men and 388 women in a 

village what is the total population of the 
village? 

a) 840                
b) 848             
c) 846             
d) 806 
 
59. There are 750 students in a School out of 

them 350 are boys and remaining are girls 
then how many numbers of girls are there in 
school? 

a) 400               
b) 600             
c) 405            
d) 350 
 
60. The cost of one notebook is Rs. 10, then 

what is the total cost of 88 notebook? 
a) 888              
b) 880             
c) 808            
d) 800 
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ENIVRONMENTAL SCIENCE (VS) 60 Questions 
  
1. All living things except plants can ___from 

one place to another. 
a) eat  
b) move  
c) sleep  
d) hug  
 
2. This is not a herb. 
a) mint  
b) tulsi  
c) garlic  
d) mango  
 
3. Creepers are ____ plants. 
a) strong  
b) fat  
c) weak  
d) tall  
 
4. Birds have _____ to fly. 
a) wings  
b) gills  
c) lungs  
d) hump  
 
5. This animal gives us wool. 
a) ship  
b) sheep  
c) goat  
d) camel  
 
6. Wild animals live in ____ 
a) kennel  
b) aquarium  
c) forest  
d) farm  
 
7. I remain in the same shape, size and weight 

even after many years. Who am I? 
a) lion  
b) toy  
c) kitten  
d) plant  
 

8. I can live both on land and in water. Who am 
I?  

a) frog  
b) elephant  
c) cow  
d) lion  
 

9. Which is our national tree? 
a) Mango  
b) Peepal  
c) Neem  
d) Banyan  

10. An instrument used to measure temperature 
is called a _____ 

a) Meter  
b) Thermometer  
c) Centimetre  
d) Millimetre  
 
11. Very big plants are called ____ 
a) trees  
b) herbs  
c) climbers  
d) shrubs  
 
12. This is not a farm animal. 
a) Cow  
b) Tiger  
c) Sheep  
d) Hen  
 
13. Which of the following is a plant product but 

we cannot eat it? 
a) Orange  
b) Rubber  
c) Cabbage  
d) Chilly  
 
14. Plants release ______ as their waste. 
a) Sunlight  
b) Oxygen  
c) Carbon dioxide  
d) None of these  
 
15. Which of the following type of clothes 

generally need dry cleaning?  
a) cotton  
b) raincoat  
c) silk and woollen  
d) None of these  
 
16. Sheena’s grandmother is making sweater 

from a wool yarn. What is this method 
called? 

a) Weaving  
b) Spinning  
c) Knitting  
d) Spindling  
 
17. We should not________ our food. 
a) cook  
b) eat  
c) overcook  
d) None of these  
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18. ‘Pucca houses are built with _________.’ 
a) cement  
b) bricks  
c) steel  
d) mud  
 
19. Which of the following is an example of body 

building food? 
a) Meat  
b) Potato  
c) Pizza  
d) Fruits  
 
20. Find the number of living things from the 

given words: - dog, bus, fish, car, plants, 
window, pen, cow 

a) 4  
b) 2  
c) 3  
d) 5  
 
21. Which plant is commonly found in the 

deserts? 
a) Neem  
b) Mango  
c) Cactus  
d) Guava  
 
22. Which colour of the traffic light allows you to 

cross the road? 
a) Red  
b) Green  
c) Yellow  
d) Orange  
 
23. Fruits and vegetables ____  
a) help us in falling sick.  
b) protect us from diseases.  
c) do not help us to grow.  
d) are complete foods.  
 
24. Rohan looked at the Moon from his window. 

It was shining brightly in the sky. Where does 
the light shining on the Moon come from? 

a) The Moon gets its light from the Sun.  
b) The Moon gets its light from satellite.  
c) The Moon has its own light.  
d) The Moon gets its light from the Earth.  
 
25. Where do we keep our money safe? 
a) Hospital  
b) School  
c) Bank  
d) Park  
 
 
 
 

26. Which animal is used to travel in the desert? 
a) Camel  
b) Cow  
c) Dog  
d) Sheep  
 
27. Which of the following fruits contains only 

one seed? 
a) Apple  
b) Mango  
c) Papaya  
d) Brinjal  
 
28. We should brush our teeth _________ a day. 
a) once  
b) twice  
c) five times  
d) None of these  
 
29. I sell medicines. Who am I? 
a) Doctor  
b) Mason  
c) Chemist  
d) Plumber  
 
30. Which of the following means of transport 

does not produce smoke? 
a) Bus  
b) Cycle  
c) Car  
d) Truck  
 
31. What do you wear while going to school? 
a) Raincoat  
b) Summer clothes  
c) Uniform  
d) Winter Clothes  
 
32. Which of these animals does not have any 

legs? 
a) Butterfly  
b) Snake  
c) Mouse  
d) Spider  
 
33. What should we not do to keep our 

surroundings fresh, clean & peaceful? 
a) Plant trees  
b) Plant flowers  
c) Put garbage in proper place 
d) Play music in loud volume 
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34. If saffron colour is 1, green colour is 2 and 
white colour is 3, then state the correct 
order of colours in our National Flag? 

a) 1, 2 & 3  
b) 1, 3 & 2  
c) 3, 2 & 1  
d) 3, 1 & 2  
 
35. Which does not move in the water? 
a) Yatch 
b) Rickshaw 
c) Submarine 
d) Ship 
 
36. One who delivers letters. 
a) Postman 
b) Policeman 
c) Watchman 
d) None of the above 

 
37. One who works in a court. 
a) Advocate 
b) Doctor 
c) Nurse 
d) Shop keeper 
  

38. Sense which helps the blind most. 
a) Touch and feel. 
b) Smell 
c) Both a. and b.  
d) None of these 
  

39. This is a medicinal plant. 
a) Neem 
b) Mint  
c) Tulsi 
d) All of these  
 
40. Flower that we eat. 
a) Banana 
b) Kachnar 
c) Drumstick 
d) All of these 
 
41. Leaves that we eat. 
a) Curry 
b) Mint 
c) Coriander 
d) All of these 
 
42. Clay utensils are made by _______ . 
a) Potter 
b) Blacksmith 
c) Mason 
d) All of the above 
 
 
 

43. We see clowns in a ______ . 
a) Home  
b) Circus 
c) Zoo 
d) School 

 
44. We can clean water by____ 
a) Boiling 
b) Water filter 
c) Both ‘a’ and ‘b’  
d) None of these 

 
45. The meal we take in the afternoon is ___ 
a) Lunch 
b) Dinner 
c) Breakfast 
d) None of these 

 
46. The eldest member of a family is ____ 
a) Child 
b) Grandfather 
c) Father 
d) Mother 

 
47. We have ______________ sense organs. 
a) 3 
b) 5 
c) 4 
d) 6 

 
48. We feel with our __ 
a) Skin 
b) Tongue 
c) Nose 
d) Eyes 
 
49. A __ brings milk for us. 
a) Hairdresser 
b) Milkman 
c) Tailor 
d) Driver 
 
50. The __ help to hold the plant firmly to the 

ground. 
a) Roots 
b) Leaves 
c) Flowers 
d) Fruits 
 
51. Red of the traffic light stands for ____. 
a) slow 
b) stop 
c) go 
d) run 
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52. A place where we see a number of animals. 
a) Zoo 
b) Garden 
c) Playground 
d) Park 
 
53. Which of the following is a National festival? 
a)  Holi 
b)  Diwali 
c)  Independence Day 
d)  Ganesh Chaturthi 
 
54. The river Which running from the capital of 

Goa ____ 
a. Zuvari 
b. kaveri 
c. Narmada 
d. Mandovi 
 
55. Malaria causes due to bites of ___  
a. cockroach 
b. mosquito 
c. honeybee 
d. None of above 
 
56. Drinking polluted water causes 
a. Cholera 
b. Diarrhoea  
c. both a and b 
d. none of above 

57. Which is not a good habit? 
a. Sharing pencil with friends 
b. helping others 
c. disturbing others 
d. None of above 
 
58. Fruit without seeds 
a. Banana 
b. mango 
c. jackfruit 
d. None of above 
 
59. A fruit which has bitter taste... 
a. Apple 
b. Bitter gourd 
c. water Mellon 
d. All the above 
 
60. Which food group is a total vegetarian food? 
A) Rice-vegetable-egg- khir 
B) Fish - Curry - meat - babana 
C) Rice- Beans - dal fry - papad 
D) Both A and C 
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ANSWER KEY: ENGLISH 

1-B 2-A 3-B 4-D 5-D 6-B 7-B 8-B 9-D 10-C 

11-B 12-B 13-B 14-B 15-C 16-A 17-C 18-D 19-C 20-C 

21-D 22-B 23-C 24-C 25-A 26-C 27-D 28-B 29-C 30-B 

31-D 32-A 33-C 34-D 35-B 36-B 37-B 38-D 39-A 40-D 

41-B 42-C 43-C 44-B 45-A 46-B 47-C 48-B 49-B 50-A 

51-D 52-B,D 53-A,D 54-A,D 55-B,C 56-C,D 57-B,D 58-A,D 59-A,B 60-B,C 

 Because the tense is not specified, thus both options are correct  
 

 

ANSWER KEY: MATHEMATICS 

1-B 2-C 3-B 4-A 5-D 6-D 7-B 8-D 9-A 10-C 

11-D 12-B 13-A 14-D 15-A 16-C 17-C 18-A 19-D 20-D 

21-B 22-C 23-A 24-B 25-C 26-A 27-B 28-B 29-C 30-C 

31-C 32-C 33-D 34-A 35-C 36-B 37-B 38-C 39-D 40-C 

41-A 42-C 43-D 44-A 45-A 46-B 47-A 48-D 49-B 50-A 

51-C 52-A 53-B 54-C 55-B 56-B 57-B 58-C 59-A 60-B 

 

 

 

ANSWER KEY: ENVIRONMENTAL SCIENCE 

1-B 2-D 3-C 4-A 5-C 6-C 7-B 8-A 9-D 10-B 

11-A 12-B 13-B 14-C 15-C 16-C 17-C 18-A 19-A 20-A 

21-C 22-B 23-D 24-A 25-C 26-A 27-B 28-B 29-C 30-B 

31-C 32-B 33-D 34-A 35-B 36-A 37-A 38-C 39-D 40-D 

41-C 42-A 43-B 44-C 45-A 46-B 47-B 48-A 49-B 50-A 

51-B 52-A 53-C 54-D 55-B 56-C 57-C 58-A 59-B 60-C 

 

 


